



**Ashley Creative Events** 

02/09/2023 11:00 AM | Travel to Las Vegas 02/10/2023 09:00 AM | Install Day 1 02/11/2023 09:00 AM | Install Day 2 02/11/2023 04:00 PM | Event Date 02/12/2023 07:00 AM | Strike & Travel to LA PO: Shipping Address: Red Rock Casino Invoice Date:

Due Date: Upon Receipt

Salesperson: Angela Murelli

Description		Qtty	Price		Total
General					
			Total General		\$0.00
Entrance					
	Oversize Props - Giant Textile Bow 65" x 36" H	1	\$350.00	Т	\$350.00
	Perimeter Drape - Mauve Gauze Pullbacks to frame the doorway	1	\$950.00	Т	\$950.00
	Custom Hand Painted Sign "Baby in Bloom" Size TBD approx 48"W x 24"H	1	\$550.00	T	\$550.00
	NEW Vintage Inspired Plates to Decorate Wall price and quantity guesstimated	60	\$50.00	Т	\$3,000.00
	Backdrop Paneling 5'W x 10'H - TBD Color to create (2) 10' x 10'H walls for display of vintage plates and escort cards	4	\$650.00	T	\$2,600.00
BIRTON MARINE STATE OF THE STAT			Total Entrance		\$7,450.00
Main Ballroom					
	Perimeter Drape - Mauze Gauze Instock material for 78'D x 22'H Room	1	\$10,500.00	Т	\$10,500.00
	Perimeter Valance - Mauve Dupioni	1	\$1,350.00	Т	\$1,350.00
	Trussing/Rigging for Central Installation ENCORE TO PROVIDE SEPARATE BILL for the installation and Chandeliers in the ceiling	1	\$0.00	T	\$0.00
	Chandelier - Montecito - White Wash	7	\$550.00	T	\$3,850.00
	Dining Chairs - Palermo - White WHITE CUSHIONS	65	\$20.00	T	\$1,300.00

Description		Qtty	Price		Total
iniun	Lyon Bar Wood 6'8"L	2	\$550.00	Т	\$1,100.00
	Backdrop Paneling 4'W x 10'H - TBD Color to create a backdrop for the bars and hanging framed art	3	\$550.00	T	\$1,650.00
	Misc Framed Botanical Artwork price and quantity approx	20	\$55.00	Т	\$1,100.00
	Nantucket Barback - Small TBD Color for barback shelving for the bartenders	3	\$250.00	Т	\$750.00
THE PARTY OF THE P	Dahlia Gardens Inverted Sofa - Pink Frame  Garden Sofas - Dahlia Gardens - Inverted Sofa - Back and Seat Cushion Cover: Flower Print	2	\$450.00	T	\$900.00
	Accent Table - Madrid - Portrack Marble Top	2	\$100.00	T	\$200.00
	Hamptons Sofa - Blush 8'L	2	\$450.00	T	\$900.00
	Montreal Coffee Table - Gold Leaf Rectangular	2	\$250.00	Т	\$500.00
	Ottoman Pod 18"D assorted floral prints	4	\$45.00	Т	\$180.00
PA	Avignon Vanity Chair - Wood Frame	4	\$175.00	T	\$700.00
	Accent Pillows assorted floral patterns, white and pink	12	\$25.00	Т	\$300.00
			Total Main Ballro	om	\$25,280.00
Patisserie Desse	ert Area				
	Backdrop Paneling - Patisserie Facade TBD Final paint colors and custom artwork	1	\$3,850.00	Т	\$3,850.00
	Patisserie Awning TBD Final color fabric	2	\$350.00	Т	\$700.00
	Back Drop Panel - Tiffany Shelving TBD Final paint color to provide shelving for the desserts	2	\$550.00	T	\$1,100.00

Description		Qtty	Price		Total
	Jardin Du Champ Elysees Bistro Table - White Frame	2	\$150.00	Т	\$300.00
	Jardin Du Luxembourg Garden Chair - White Frame FLORAL CUSHION	8	\$20.00	Т	\$160.00
		Total Patisserie Dessert Area			\$6,110.00
Photo Op					
	Backdrop Panels - Shiplap Wood White 4' x 10'H to create backdrop for photo op	3	\$850.00	Т	\$2,550.00
	Console Tables - Florence Wood 6'L	1	\$200.00	Т	\$200.00
	Venice Wall Mirror Woodside Beveled	1	\$150.00	Т	\$150.00
	Subrental: Wooden Armoire/Cabinet	1	\$1,250.00	Т	\$1,250.00
			Total Photo Op		\$4,150.00
Services					
	Installers: Travel Date Thursday	6	\$350.00		\$2,100.00
	Installers: Install Friday and Saturday	6	\$950.00		\$5,700.00
	Installers: Strike & Travel	6	\$600.00		\$3,600.00
	Trucking: 24'L	3	\$1,250.00		\$3,750.00
	Certificates: Flame Proofing	1	\$350.00		\$350.00
	Supplies: Misc	1	\$950.00		\$950.00
	Accommodations: Perdiem for (4) Days	6	\$276.00		\$1,656.00
	Accommodations: Hotel for (3) Nights CLIENT TO PROVIDE AT RED ROCK	3	\$0.00		\$0.00
	Manager: Onsite (1) Day	1	\$1,200.00		\$1,200.00
	Manager: Hotel Accommodations (1) Night CLIENT TO PROVIDE AT RED ROCK	1	\$0.00		\$0.00
	Manager: Round Trip Flight	1	\$600.00		\$600.00
	Trussing: Labor & Delivery	1	\$3,800.00		\$3,800.00
	Production: Design and Sourcing Product	1	\$2,500.00		\$2,500.00
	Custom Artowork: Hand Painting	1	\$1,200.00		\$1,200.00

Please make checks payable to Revelry, Inc.

Total Products:

Note: Prior to deliveries and pick-ups all invoices must be pay in full

Please ready the contract and sign it

Taxes: \$4,084.05

Notes Discounts: (\$0.00)

Notes

tes Total: \$74,480.05

Payments: (\$0.00)

Balance: \$74,480.05

\$42,990.00